PROJECTED CAPACITIVE MODEL

479.2 (EDGE OF TOUCHSCREEN)

— 2.6 FOAM SEAL ALL AROUND

DIMENSIONAL DRAWING: ET2094

40.5 —=
R8, X4

437.9 ACTIVE AREA

241.7 ACTIVE AREA

285 :

(EDGE OF TOUCHSCREEN)

=

280.1

DIMENSIONS ARE IN MILLIMETERS

SIDE MOUNT (LEFT AND RIGHT)
M4 THREADS, X2
MAX THREAD DEPTH = 6.5MM

VESA MOUNT
100X100 M4 THREADS,
——— 100 —= MAX THREAD DEPTH = 7MM, X4

‘ ] ! X
90
|
_ |
® el
B A 100
® {
:LMEH — H©JH:
E 90
| = == . ;

476

HDMI IN

DISPLAYPORT IN

DC POWER IN

TOUCH USB OUT
®

Eo bl [
— Osls— (©

204

SIDE MOUNT (TOP AND BOTTOM)
M4 THREADS, X2
MAX THREAD DEPTH = 6.5MM

MS601693

SHEET 1 OF 6 DATE: 03/07/2017

REV:C




DIMENSIONAL DRAWING: ET2094

PROJECTED CAPACITIVE MODEL
WITH FLUSH MOUNTING BRACKETS (4 INCLUDED)

REPLACEMENT BRACKET KIT P/N E190706 AVAILABLE SEPARATELY

528

o

O

200

o

O

——— ADJUSTMENT RANGE =5.1 TO 17.6

RECOMMENDED CUSTOMER PANEL CUT-OUT

"A" = CLEARANCE HOLES FOR M4 SCREWS

"B" = M4 THREADS OR M4 CONCEALED HEAD
THREADED STUDS WITH NUTS

506
_— 220 "B"
‘% LI\ \[
- 200 "A - 10
+ -
4 |
N 482.2+0.2

288+0.2

|
Z @D B
220
332.1
X
@D s
7
R9.5 £+ 0.2 , X4
|
TOUCHMONITOR
S Z
)
310.1
220 "B"
200 "A"

O
=l

2 ° 2
9 e ) — ® Jﬁ
[ | [® .
e — @ EO
:H ©
° L A
) @
bt i
F sl = [l 7
@]
L A E @ EQ
= i = -
=|_— = @ @ ==1) @
Do ©0
CUSTOMER PANEL (NOT INCLUDED)
MIN THICKNESS = 5MM
_ MAX THICKNESS = 14MM
0 —
1
\@ (
INSTALL ADJUSTING BRACKETS SO TOUCHMONITOR
WILL BE FLUSH WITH CUSTOMER PANEL
- "

.@

-
-
MS601693
DIMENSIONS ARE IN MILLIMETERS SHEET 2 OF 6 DATE: 03/07/2017
REV:C




INTELLITOUCH, ACCUTOUCH, AND SECURETOUCH MODEL

476

7

——— 437.5 BEZEL OPENING

241.3 BEZEL OPENING

280.1

DIMENSIONS ARE IN MILLIMETERS

DIMENSIONAL DRAWING: ET2094

—=143.4

SIDE MOUNT (LEFT AND RIGHT)

M4 THREADS, X2
MAX THREAD DEPTH = 7MM

VESA MOUNT
100X100, M4 THREADS
MAX THREAD DEPTH = 7MM

DISPLAYPORT IN

DC POWER INX

5 0 — i ] g — 0 5
= ‘ Tob | — = |
- [ ) @[
@ : Bl |
)
e Cl
. = 100
© <
] Ry = —Te[l
1 : 0l 90
e% O %é o O % o %% O %9 7
VGA IN
HDMI IN
REMOTE OSD

TOUCH USB OUT

SERIAL TOUCH OUT
(NOT AVAILABLE ON ALL MODELS)

J ®

(T X))
e.e. /I‘ o @

B

]

204

SIDE MOUNT (TOP AND BOTTOM)
M4 THREADS, X2
MAX THREAD DEPTH = 7MM

MS601693

SHEET 3 OF 6 DATE: 03/07/2017

REV:C




INTELLITOUCH, ACCUTOUCH, AND SECURETOUCH MODEL

WITH SIDE MOUNTING BRACKETS (4 INCLUDED)

REPLACEMENT BRACKET KIT P/N E201156 AVAILABLE SEPARATELY

489

439.9
228 "B"
204 "A"

DIMENSIONAL DRAWING: ET2094

++

"A" = CLEARANCE HOLES FOR M4 SCREWS

R1.5 , X4

RECOMMENDED CUSTOMER PANEL CUT-OUT

"B" = M4 THREADS OR M4 CONCEALED HEAD
THREADED STUDS WITH NUTS

=1
%‘

228"

204 "A"

—

l—
=

—
—

—
‘\1

|B"

243.7

DIMENSIONS ARE IN MILLIMETERS

293.1

500

ADJUSTMENT RANGE
—=——=0.8 0TO 16MM

A TIHHRIE XD T XC HERRATKRATKET)

@
AN
[@]

304.1 5 | o

CUSTOMER PANEL
(NOT INCLUDED)

MOUNTING BRACKET
X4 INCLUDED WITH KIT

—TOUCHMONITOR

il
=" ;

SHEET 4 OF 6

MS601693

DATE: 03/07/2017

REV:C




OPTIONAL FRONT MOUNT BEZEL KIT P/N E553352

DIMENSIONAL DRAWING: ET2094

COMPATIBLE WITH INTELLITOUCH, ACCUTOUCH, AND SECURETOUCH MODEL ONLY

516.3 +9
S
e —— 48.1
e - A
4 I
R( D u {
14 {{#-
— 437.5 — -
BEZEL OPENING
320.4
BEZEL OPENING
7
§> ( 7
) gl !
- = - A I
R10, X4
502.3
FRONT MOUNT BEZEL
= 240 "A" =
TOUCHMONITOR
= 220 "B" =
R3, x4
+ + ++
] |
+ +
+ ]
486.3+0.3
290.4+0.3 ®
240 "A"
MOUNTING HOLES: 220 "B" 306.4
"A" = M4 THREADED HOLES OR M4 CONCEALED HEAD
THREADED STUDS WITH NUTS
"B" = CLEARANCE HOLES FOR M4 SCREWS
i sy
+ +
X D)
+ + ++ X

DIMENSIONS ARE IN MILLIMETERS

CUSTOMER PANEL (NOT INCLUDED)
MIN THICKNESS = 3MM
MAX THICKNESS = 17MM

@ -
- ®
| @
O

SHEET 5 OF 6

FRONT MOUNT BEZEL
MOUNTING BRACKETS, X4

MS601693

DATE: 03/07/2017

REV:C




OPTIONAL RACK MOUNT BEZEL KIT P/N E553538

DIMENSIONAL DRAWING: ET2094

COMPATIBLE WITH INTELLITOUCH, ACCUTOUCH, AND SECURETOUCH MODEL ONLY

482.6
19"

— 214

37.3
i Yy

Co00

00CH

AJ;

CH00

00CH

|
TL 12.7

487.4
19.2"
11U

NOTES:

1. REQUIRES 11U RACK SPACE

2. TOUCHMONITOR IS MOUNTED IN PORTRAIT ORIENTATION
3. HOLE SPACING PER EIA-310-D

DIMENSIONS ARE IN MILLIMETERS

43.4

CHO0o0

i —
=
00

[ fe] D

==

T el

= =
O

. = :
= : .
1E0 :

SHEET 6 OF 6

MS601693

DATE: 03/07/2017

REV:C




	Sheet 1
	Views
	new_view_7
	right_8
	right_9
	bottom_22


	Sheet 2
	Views
	new_view_13
	right_14
	right_15
	new_view_16
	new_view_17


	Sheet 3
	Views
	new_view_18
	right_19
	right_20
	bottom_21


	Sheet 4
	Views
	new_view_24
	right_25
	right_26
	new_view_27
	new_view_36


	Sheet 5
	Views
	new_view_28
	right_29
	right_30
	new_view_31
	new_view_39


	Sheet 6
	Views
	new_view_32
	right_33
	right_34
	new_view_35



